
114 

�

�"� 531.19; 538.911 

�+1�. �.�. �1'�6, *+1�.�.�. ���+�*���, *+1�. �.�. 9����-

��1�. �1-. &��3. �.�. ���-����, *+. &��&. �.�. <���3��+���  
(-�3���� 3���-�, 
!��) 

�����.���� 2����������
��
�����-�����
  


������ ��
������

� ����+� �������+.��8+*� �*����.� &�'������ 7'�-+��*+�+�-

��*-�0 2���'� �����(� -��*+�''� �� &��2��� 2�-��*-�&���*-�(� 2�-

��-��*+�''� NaCl, -�+��.� �����18+*� �� *'��185�) ��+.��) �*-

)���.) &�'������): 

1. ���. Na
+
�Cl

–
��**2�+����8+*� -�- 2�+����',�.� +�����.�

�����., ��)���5��*� � ��&���.���2 )��+���*-�2 �������� � �-��*+-

��*+� 1�'�� &��*+�0 -1����*-�0 ��6�+-�. 

2. �2&'�+1�. -�'�����0 -�+����� � ������� �2�8+ ����.�

�������� (ANa ≠ ACl). 

3. ����&�'�(��+*�, �+� �����. ����� �����2���� ��*&����'��.

��1+�� *3�� * ����1*�2�, ����.2� �) �2&'�+1��2 -�'�����0, ��������

-�+��.) *�*+��'�8+ &����-� 10% �+ &���2�+�� -��*+�''���*-�0 ��6�+-�. 

4. ����2���0*+��� 2���1 +�����.2� ������2� ����� �&�*.��-

�+*� * &�2�5,8 ��-��� �1'���. 

� -���*+�� &����(� 6�(� ��**��+.��8+*� ��;�2. 6���� � *3�-

����*-�0 *�*+�2� -�������+. /+� &����'��+� -���*+�� �+���(� 6�(�, 

��&�*�+, �.������� �'� &�+��4��',��0 7���(�� ����2���0*+��� ����

����(� ���-� (q1) * ����2 ��1(�(� ���-� (q2), ����� -�+���(� �����2����

��*&����'�� � *��+��+*+�185�2 *3�����*-�2 ��;�2� ����1*� R, 4��+� -�-

+���(� ��)���+*� �� ��**+����� r �+ 3�-*��������(� ������ q1 (r > R). 

	�;�2 6��� ����1*� R *3�����*-�0 *�*+�2. -�������+ ��**��-

+.���+*� &� 3��21'�: 
max max
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max min 2x x R= + .  (1) 

��+��4��',��� 7���(�� ����2���0*+��� 3�-*��������(� ������ q1 *

7'�2��+���.2 ������2 dq2 � ��;�2� dV ��1+��6��� ����1*�R �&����'��+*�: 
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���+.��� *��0*+�� ����+����*+�, ��**��+.���+*� &�'��� &�+��-

4��',��� 7���(�� +������(� ������ q1 * ������2q2 �����2���� ��*&����-

'���.2 � ��;�2�6��� ����1*� R (ρ2 = q2/V2 – ��;�2��� &'�+��*+, ������): 
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